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Ch, S Fractions ( SA o 8C7)
Q) Fillin the blanks,

A faction is o part ol a \‘\\L\,()‘Qn

A fraction s made up ol two parts oy .Lm(")(uQ 0 and (Qp (ALO n\i) Vvl QU”
Fhe fractnons inowhich the numerator s greater than or cqual to the depominator are « alled
Am paopest ‘lm( Liow -

FEthe namerator s same . the fraction with the Teast denomimatorn i the \){L’MCJ A
Q.2) True or False

]

Eothe value ot all the proper fractions is preater than 1, ‘

Do bractions that name the same part ol the whole are called equivalent fractions . ‘

i 14, 2 2

Sothe simplest form of === 18 =, [

49 7
5 3
/ l 4
Q.3) Do as directed.

oDl the bk to name the equivalent fractions :-

3 s 9

n) — - v
YV 4 8 A

O 24 /]g
b) 5 26 72

2 Reduce the tollowing lnulmm o thII lowest terms -

J(s 2.9 g

a — e
oy oo = 2
il “ '
b) ~—— ») ‘\
120 2 A
RS ('mnp;m and il nbthe-Boxes by inserting <, >
3 7 1 - 1
il) E l/i-]' 5 h) 9 |’)‘ 15
) | 18 19 || 13
o= <] o O[> L
16 24 28 27
1 Add or subtract and express the result in the simplest form -
3 7 2 /
- Ls
{ —_— 4 —— 4 — — - ) ’ 5
T 15 15 - v
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(). 4) Solve the l'nllnwi“’,

(1 49
I)A',:Il”'b ll‘(' '”””\V“”! IH “"(’l., l ) [ )’ /‘
0 :, i Cndmg order, ‘
,’]) - L] ,M- —— ') , P -~
f 24 ’ 17 i I(‘) };(n’)/"’ //'/|l’
A )
5 9 ; 1P,
* ——— e . }
2y Arrange the (ollowing : , ’
) ) ; 0 uwm;/],’m ‘I(:"uf“‘l“l’“ order, 1O = {0
Ve o1y 20 ; 20,35, 12 ,)/’3
60
S , ;7“ k) /)‘
H 12" T = P
6 20 =
3) /\'(l‘l and pive your answer in (e simplest form
N2 3 3 9 4
a) 4 6 by = + — 4+ —
i 5 15 10
\2_ Tl 320 20
[2-
ue o4 ¢ 2 f
— ____,_)1 _ = = = | = Hu
=\ [ Pwr 25 5 o =

4) Subtract and give your answer in the simplest form .

4 2 o B = e
Y18 6 ) g 12
— W4 — 2X2 _

2K — 245

=
h-¢
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5) Solve the following :-
3 2
a) '6

1
6

3
o g — bx2 — 3%
| R

-—

6 — V2~ 2
loe = 1272
\ 2

—

P

—_—
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= 25 —19
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